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Identify the center and radius of each. Then sketch the graph.
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Identify the center, vertices, co-vertices, foci, length of the major axis, and length of the minor
axis of each. Then sketch the graph.
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Identify the vertices, foci, and asymptotes of each. Then sketch the graph.
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Identify the vertex, focus, axis of symmetry, and directrix of each. Then sketch the graph.
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Identify the conic and write the standard f
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Use the information provnded to write the standard form equation of each circle.

13) Center: (15, 11) - 14) Center: (13, -4)
Radius: VZ Radius: 5

K{'@lﬂg-\\ﬁ ”@

equation of each.

(Y-
(g"f

Use the information provided to write the standard form equation of each ellipse.
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Use the information provided to write the standard form equation of each hyperbola. ((= | A
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Use the information provided to write the vertex form equation of each parabola.
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